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I. Determine if the Mean Value Theorem applies to f%x

)=2-x" on the interval [ 0,42 ] 150, which of
the following points (x-valuc only) is guaranteed to exists by the MVT?
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(A) No, the Mean Value Theorem does not apply.
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Suppose a function f is differentiable for all # and f(0) = 0. If g(z) is defined as g(z) =
f(z)cosz, which of the following statements must be true? (0,0)
]

L

3.

There exists & number ¢ in the interval (l]., g—] such that ¢'(¢) = 0.

II.  There exists & number ¢ in the interval (F, w] sueh that g'(¢) = 0.
111, There exists a number ¢ in the interval (—%, 0) such that ¢'(e) = 0.
A) 1 only fjfu‘:'tl'\t'oS'Coso: @]
B) II only Ty = Wigix
=Y. cos (2N =
C) 1 and 11 only 0 %)=L -’(;.._) O
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E) 1, 1, and III o
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The graph of the derivative of a function f is shown above. Which of the following are true
about the original function f 7

1. f is increasing on the interval (—‘Ll}[)(/; £'is M@- pefd C'Jr"lﬂ
1. f is continuous at z = 0.,/

HL # heean inflection polst at 2 = 27— ; ; :(

f \,___/\/nl._/l ‘ Edf" ".u. exrsts
A) T only M 07 W% ph ,F "cr'{“ g o lc_.,,r.f’
B8) 11 only 70
C) Il

D) 11 and 11 only
E) 1, 11, and HI

5. The velocity of a particle moving along a horizontal axis is given by the function v(¢) = ¢ —sin(2¢) for

() : ; : :
0<tr<5 Ifthe E_ositién of the particle at¢ =0is %. find an expression for the position of the particle at
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6. Find the absolute extrema of g(x) = i—+-2- wm E— 3) &j
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